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Warm-up Questions




Slide 3. Primary Oőcyte: tetrads
A. How many chromosomes are found in the


on the spindle.
human zygote?_________.




A. Are the dyads moving apart now?









________.
B. How many chromosomes are found in a


B. If a dyad leaves the oocyte, how many
human gamete?__________.




chromatids are leaving?_________.
C. How many sets of chromosomes are in


C. Draw the cell.  Label the spindle fibers,
a diploid (2N) cell?__________.




dyads, and tetrads.
Slide 1. Primary Oőcyte: tetrad
formation

A. Each of the 4 Ascaris chromosomes has split

and formed a double-stranded chromosome called

a___________.

B. When two identical dyads, each composed

of two chromatids, pair up the result is called

a____________.

C. Draw the cell and label the tetrads



Slide 4. Primary Oőcyte: first polar








body forming.








The chromatids have moved to the edge








of the oocyte.








A. The small cell that buds off is called a








__________________.








B. After budding how many dyads will








remain in the oocyte?_________.








C. Draw the oocyte.  Label the chromatids
Slide 2. Dyads Starting to Separate,


moving into the polar body.
A. Are the chromatids cleanly separated, or do







  they overlap?____________.

B. If the oocyte provides 2 chromosomes, how

many chromosomes does the sperm provide?

__________.

C. Draw the slide.  Label the sperm, chromatids,

and tetrads.












































































Slide 5. Secondary Oőcyte: 



Slide 7. Pronucleus Stage.

Chromosomes formed.




The nucleus of the sperm and the nucleus
The dyads (pairs of chromatids) split.  Each


of the oocyte are called pronuclei.
chromatid is now a complete chromosome.








A. How many chromosomes are in the
A. How many chromosomes are now in the


sperm pronucleus?________.
secondary oocyte?__________













B. How many chromosomes are in the
B. After the second polar body has formed, how many

egg pronucleus?________.

chromosomes will remain in the oocyte?_____.









C. Draw the pronuclei.  Label the
C. Draw the secondary ooctyte.  Label the sperm and

pronuclei and the second polar
the chromosomes that will go into the second polar

body.
body.






































Slide 6. Mature Egg.




Slide 8. Zygote.
Note that the polar bodies, identified by their


The pronuclei have fused together.
chromosomes, are still present near the oocyte.
















A. Is the zygote 1N or 2N (which)?
A. Draw the oocyte.  Label the oocyte, first polar


___________.
body, and second polar body.

















B. Therefore, the number of chromo-









somes in the zygote is_______?






















C. Draw the zygote.  Label the zygote 









cell and the chromosomes.



ANSWER THE FOLLOWING QUESTIONS FROM THE MICROVIEWER SLIDES OR THE ACCOMPANYING BOOKLET.





Names/s______________________


Period____________


Date_____________
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